Exponentes de 10

Nombre: Fecha: Puntuacion:
6,3+ 10 = 10° =
—1x10° = 6x 10% =
2,45+ 10° = 1,59 x 10* =
6x10° = 8,08+ 10" =
6,06 x 10* = 7x10 =
10° = 10° =
2,24+ 10° = 10° =
—2x10° = 3x10° =
1,69+ 10° = 102 =
10° = 7% 10% =
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Exponentes de 10

Nombre: Fecha: Puntuacion:
6,3+ 10 =0.63 10° = 1000
~1x10°=-1 6 x 10* = 60000
2,45+ 10° = 0.00245 1,59 x 10* = 159
6 x 10° = 6000 8,08 = 10* = 0.000808
6,06 x 10> = 606 7%x10=70
10° = 1000 10° = 1000000
2,24+ 10° = 0.00224 10° = 1000
—2 % 10° = —200000 3 x 10° = 3000
1,69+ 10° = 1.69E — 05 10 = 100
10° = 1000000 7 x 10* = 70000
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